APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	JIM WOLFE	Page 1 of
Project: N. INGE	RSOLL STREET, ELIZABETH STREET, A	ND JEAN STREET ASSESSMENT DISTRICT - 2019
Contract Number:	8295	Payment Number: 2
DO NOT WRIT	E IN THIS BOX - TO BE COMPLE	TED BY CITY ENGINEERING PERSONNEL ONLY
TOTAL FROM PAGE	:7	712,941.92
LESS RETAINAGE:		35,647.10
SUBTOTAL:		677,294.82
LESS PREVIOUS PA	YMENTS:	254,831.05
CURRENT PAYMEN	Γ DUE	422,463.77
INSPECTOR'S CERT The undensity this a and that INSPECTOR'S CERT The undensity this a and that	IFICATE FOR PAYMENT: ersigned Inspector certifies that to the pplication for payment has been comp the contractor is entitled to payment for TOR TIME PERIOD FOR THIS PAYMENT R	best of his/her knowledge, the work covered pleted in accordance with the contract documents, or the amount certified. $\frac{\sum -12 - 2 \cdot 2 \cdot 3}{DATE}$
NOTE: SIGNED I	PAYMENT REQUEST SHALL BE SUBMIT	TED TO THE ENGINEER/INSPECTOR.

PARTIAL PAYMENTS CAN BE PROCESSED EVERY TWO WEEKS.

STREET ACCOUNT NO. 11182-402-170 STREET STORM ACCOUNT NO. 11182-402-174 STORM ACCOUNT NO. 11182-84-174 SANITARY ACCOUNT NO. 11182-83-173 WATER ACCOUNT NO. 11182-86-179

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

1

R. G. HUSTON CO., INC.

N. INGERSOLL STREET, ELIZABETH STREET, AND JEAN STREET ASSESSMENT DISTRICT - 2019

CONTRACT NO. 8295

PAYMENT NO. 2

PAYME	NT NO. 2	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	 Г ACCOUNT NO. 11182-402-170												
10701	TRAFFIC CONTROL	0.39	LUMP SUM	\$3,850.00	\$1,501.50		0.10	\$385.00	0.10	\$385.00	0.20	\$770.00	51.28%
10801	ROOT CUTTING - CURB AND GUTTER (UNDISTRIBUTED)	300.00	L.F.	\$16.50	\$4,950.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10802	ROOT CUTTING - SIDEWALK (UNDISTRIBUTED)	200.00	L.F.	\$16.50	\$3,300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10911	MOBILIZATION	0.39	LUMP SUM	\$262,900.00	\$102,531.00		0.10	\$26,290.00	0.10	\$26,290.00	0.20	\$52,580.00	51.28%
20101	EXCAVATION CUT	4,112.00	C.Y.	\$32.85	\$135,079.20		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20219	BREAKER RUN	3,900.00	TON	\$13.90	\$54,210.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20221	TOPSOIL	1,650.00	S.Y.	\$10.80	\$17,820.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20303	SAWCUT BITUMINOUS PAVEMENT	155.00	L.F.	\$2.25	\$348.75		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20322	REMOVE CONCRETE CURB & GUTTER	2,400.00	L.F.	\$5.80	\$13,920.00		250.00	\$1,450.00	0.00	\$0.00	250.00	\$1,450.00	10.42%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	11,500.00	S.F.	\$2.55	\$29,325.00		1,000.00	\$2,550.00	0.00	\$0.00	1,000.00	\$2,550.00	8.70%
20401	CLEARING	135.00	I.D.	\$50.00	\$6,750.00		0.00	\$0.00	119.00	\$5,950.00	119.00	\$5,950.00	88.15%
20403	GRUBBING	135.00	I.D.	\$50.00	\$6,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20701	TERRACE SEEDING	1,650.00	S.Y.	\$2.25	\$3,712.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21061	EROSION MATTING, CLASS I, URBAN TYPE A	1,650.00	S.Y.	\$3.50	\$5,775.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30201	TYPE "A" CONCRETE CURB & GUTTER	2,100.00	L.F.	\$18.08	\$37,968.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30208	HAND FORMED CURB AND GUTTER	300.00	L.F.	\$41.82	\$12,546.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30301	5 INCH CONCRETE SIDEWALK	7,915.00	S.F.	\$5.76	\$45,590.40		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	3,990.00	S.F.	\$6.67	\$26,613.30		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30340	CURB RAMP DETECTABLE WARNING FIELD	104.00	S.F.	\$30.30	\$3,151.20		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

R. G. HUSTON CO., INC.
N. INGERSOLL STREET, ELIZABETH STREET, AND JEAN STREET ASSESSMENT DISTRICT - 2019
CONTRACT NO. 8295
PAYMENT NO. 2

CRUSHED AGGREGATE BASE 1,475.00 TON \$21.00 \$30,975.00 0.00 \$0.00	TATME	N1 NO. 2	1	2	3	4	5	6	7	8	9	#10	11	12
COURSE, GRADATION 1 1.475.00 10.N \$51.00 \$446,820.00 0.00 \$50.00 0.00 \$50.00 0.00 \$50.00 0.00	ITEM	TYPE OF WORK		UNITS					EXTENSION		EXTENSION		EXTENSION	PERCENT COMPLETE
COURSE, GRADATION 2 OR 3	40101		1,475.00	TON	\$21.00	\$30,975.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202 HMA PAVEMENT 4 LT 58-28S 600.00 TON \$74.50 \$44,700.00 0.00 \$	40102		2,220.00	TON	\$21.00	\$46,620.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
## TACK COAT	40201	HMA PAVEMENT 3 LT 58-28S	285.00	TON	\$67.45	\$19,223.25		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
PAVEMENT MARKING EPOXY, LINE, 4- 10,00 L.F. 52.50 \$525.00 0.00 \$	40202	HMA PAVEMENT 4 LT 58-28S	600.00	TON	\$74.50	\$44,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
NCH	40218	TACK COAT	705.00	GAL	\$2.20	\$1,551.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
Line, 4-INCH S0.00 Line, 4-INCH S0.00 Line, S0.00 Line, S0.00 S0	60800		210.00	L.F.	\$2.50	\$525.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
CROSSWALK, 6-INCH 2000 L.F. 38-75 \$2,100.0	60801	•	500.00	L.F.	\$5.00	\$2,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
LINE, 24-INCH 24.00 L.F. \$9.75 \$224.00 0.00 \$0.00	60812	•	240.00	L.F.	\$8.75	\$2,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
SYMBOL, BIKE SHARROW 3.00 EACH \$205.00 \$615.00 \$0.00 \$	60818	•	24.00	L.F.	\$9.75	\$234.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
STREET STORM ACCOUNT NO. 11182-402-174 SUBTOTAL S	60822		3.00	EACH	\$275.00	\$825.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
STREET STORM ACCOUNT NO. 11182-402-174 20217 CLEAR STONE 400.00 TON \$15.20 \$6,080.00 \$750.00 \$0	60826	SYMBOL, BIKE LINE & STRAIGHT	3.00	EACH	\$205.00	\$615.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
STREET STORM ACCOUNT NO. 11182-402-174 20217 CLEAR STONE	90001		4,500.00	S.Y.	\$6.04	\$27,180.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20217 CLEAR STONE 400.00 TON \$15.20 \$6,080.00 68.41 \$1,039.83 60.00 \$912.00 128.41 \$1,951.83 32.10% 21001 EROSION CONTRON PLAN & 1.00 LUMP SUM \$750.00 \$750.00 0.00 \$0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.		SUBTOTAL			•	\$688,890.10	•	' :	\$30,675.00	•	\$32,625.00		\$63,300.00	9.19%
21001 EROSION CONTRON PLAN & 1.00 LUMP SUM \$750.00 \$750.00 0.00 \$0	STREET	STORM ACCOUNT NO. 11182-402-174												
21012 EROSION CONTROL INSPECTION 4.00 EACH \$550.00 \$2,200.00 0.00 \$0.00 \$0.00 \$0.0	20217	CLEAR STONE	400.00	TON	\$15.20	\$6,080.00		68.41	\$1,039.83	60.00	\$912.00	128.41	\$1,951.83	32.10%
21011 CONSTRUCTION ENTRANCE 2.00 EACH \$535.00 \$1,070.00 1.00 \$535.00 2.00 \$1,070.00 3.00 \$1,605.00 150.00% 21012 STREET CONSTRUCTION ENTRANCE 3.00 EACH \$308.00 \$924.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0	21001		1.00	LUMP SUM	\$750.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21012 STREET CONSTRUCTION ENTRANCE BERM 3.00 EACH \$308.00 \$924.00 0.00 \$0.00 \$0.00 0.00 \$0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00	21002	EROSION CONTROL INSPECTION	4.00	EACH	\$550.00	\$2,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
BERM 3.00 EACH \$308.00 \$924.00 0.00 \$0.00 \$0.0	21011	CONSTRUCTION ENTRANCE	2.00	EACH	\$535.00	\$1,070.00		1.00	\$535.00	2.00	\$1,070.00	3.00	\$1,605.00	150.00%
21017 SILT SOCK (8INCH) - COMPLETE 30.00 L.F. \$15.00 \$450.00 5.00 \$75.00 10.00 \$150.00 15.00 \$225.00 50.00% 50401 12 INCH TYPE I RCP STORM SEWER 53.00 L.F. \$102.00 \$5,406.00 0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	21012		3.00	EACH	\$308.00	\$924.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50401 12 INCH TYPE I RCP STORM SEWER 53.00 L.F. \$102.00 \$5,406.00 0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	21013	STREET SWEEPING	1.00	LUMP SUM	\$6,500.00	\$6,500.00		0.25	\$1,625.00	0.25	\$1,625.00	0.50	\$3,250.00	50.00%
PIPE 53.00 L.F. \$102.00 \$5,406.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00	21017	SILT SOCK (8INCH) - COMPLETE	30.00	L.F.	\$15.00	\$450.00		5.00	\$75.00	10.00	\$150.00	15.00	\$225.00	50.00%
	50401		53.00	L.F.	\$102.00	. ,		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

R. G. HUSTON CO., INC.
N. INGERSOLL STREET, ELIZABETH STREET, AND JEAN STREET ASSESSMENT DISTRICT - 2019
CONTRACT NO. 8295
PAYMENT NO. 2

		1	2	3	4	5	6	7	8	9	#10	11	12	
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE	
50741	TYPE H INLET	4.00	EACH	\$2,535.00	\$10,140.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
90004	RIGID FRAME INLET PROTECTION	34.00	EACH	\$290.00	\$9,860.00		0.00	\$0.00	22.00	\$6,380.00	22.00	\$6,380.00	64.71%	
	SUBTOTAL			•	\$43,380.00	•	•	\$3,274.83	•	\$10,137.00	•	\$13,411.83	30.92%	
STORM ACCOUNT NO. 11182-84-174														
10701	TRAFFIC CONTROL	0.17	LUMP SUM	\$3,850.00	\$654.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
10911	MOBILIZATION	0.17	LUMP SUM	\$262,900.00	\$44,693.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
20311	REMOVE SEWER ACCESS STRUCTURE	8.00	EACH	\$696.00	\$5,568.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
20313	REMOVE INLET	12.00	EACH	\$440.00	\$5,280.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
20314	REMOVE PIPE	208.00	L.F.	\$37.70	\$7,841.60		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
20336	PIPE PLUG	11.00	EACH	\$217.00	\$2,387.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
40363	ADJUST CATCHBASIN CASTING - RESURFACING	2.00	EACH	\$970.00	\$1,940.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
40364	ADJUST INLET CASTING, TYPE "H" - RESURFACING	5.00	EACH	\$970.00	\$4,850.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
40371	REBUILD ACCESS STRUCTURE TOP - RESURFACING	1.00	EACH	\$2,795.00	\$2,795.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50211	SELECT BACKFILL FOR STORM SEWER	1,298.00	T.F.	\$0.01	\$12.98		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50402	15 INCH TYPE I RCP STORM SEWER PIPE	70.00	L.F.	\$106.00	\$7,420.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50403	18 INCH TYPE I RCP STORM SEWER PIPE	30.00	L.F.	\$109.00	\$3,270.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50404	21 INCH TYPE I RCP STORM SEWER PIPE	23.00	L.F.	\$114.00	\$2,622.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50418	14 INCH X 23 INCH TYPE I HERCP STORM SEWER PIPE	511.00	L.F.	\$129.50	\$66,174.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50419	19 INCH X 30 INCH TYPE I HERCP STORM SEWER PIPE	611.00	L.F.	\$136.50	\$83,401.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50499	CONCRETE COLLAR	1.00	EACH	\$1,353.00	\$1,353.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50722	6'X6' STORM CATCHBASIN	1.00	EACH	\$6,480.00	\$6,480.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	
50723	3'X3' STORM SAS	5.00	EACH	\$3,000.00	\$15,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%	

R. G. HUSTON CO., INC.
N. INGERSOLL STREET, ELIZABETH STREET, AND JEAN STREET ASSESSMENT DISTRICT - 201!
CONTRACT NO. 8295
PAYMENT NO. 2

		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50724	4'X4' STORM SAS	6.00	EACH	\$3,425.00	\$20,550.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50768	TERRACE INLET TYPE 3	2.00	EACH	\$3,950.00	\$7,900.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50792	STORM SEWER TAP	4.00	EACH	\$1,353.00	\$5,412.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50793	PRIVATE STORM SEWER RECONNECT, TYPE 1 (UNDISTRIBUTED)	1.00	EACH	\$1,329.00	\$1,329.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50801	UTILITY LINE OPENING (ULO)	12.00	EACH	\$615.00	\$7,380.00		0.00	\$0.00	1.00	\$615.00	1.00	\$615.00	8.33%
50802	CONCRETE SUPPORTS	5.00	EACH	\$1,535.00	\$7,675.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90003	3'X6' STORM SAS	1.00	EACH	\$4,440.96	\$4,440.96		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTAL			•	\$316,430.04			\$0.00	•	\$615.00		\$615.00	0.19%
SANITA	RY ACCOUNT NO. 11182-83-173												
10701	TRAFFIC CONTROL	0.24	LUMP SUM	\$3,850.00	\$924.00		0.12	\$462.00	0.12	\$462.00	0.24	\$924.00	100.00%
10911	MOBILIZATION	0.24	LUMP SUM	\$262,900.00	\$63,096.00		0.12	\$31,548.00	0.12	\$31,548.00	0.24	\$63,096.00	100.00%
20311	REMOVE SEWER ACCESS STRUCTURE	5.00	EACH	\$696.00	\$3,480.00		4.00	\$2,784.00	1.00	\$696.00	5.00	\$3,480.00	100.00%
50202	DEWATERING TYPE II	1.00	LUMP SUM	\$450.00	\$450.00		1.00	\$450.00	0.00	\$0.00	1.00	\$450.00	100.00%
50212	SELECT BACKFILL SANITARY SEWER	1,920.00	T.F.	\$0.01	\$19.20		1,200.00	\$12.00	400.00	\$4.00	1,600.00	\$16.00	83.33%
50301	8 INCH PVC SANITARY SEWER PIPE (SDR-35/26)	410.00	L.F.	\$104.80	\$42,968.00		405.00	\$42,444.00	5.00	\$524.00	410.00	\$42,968.00	100.00%
50321	8 INCH PVC PRESSURE SANITARY SEWER PIPE	617.00	L.F.	\$126.50	\$78,050.50		217.00	\$27,450.50	400.00	\$50,600.00	617.00	\$78,050.50	100.00%
50353	SANITARY SEWER LATERAL	455.00	L.F.	\$31.00	\$14,105.00		350.00	\$10,850.00	0.00	\$0.00	350.00	\$10,850.00	76.92%
50355	SANITARY SEWER LATERAL - PRESSURE PIPE	438.00	L.F.	\$38.00	\$16,644.00		153.50	\$5,833.00	0.00	\$0.00	153.50	\$5,833.00	35.05%
50356	RECONNECT	13.00	EACH	\$5,000.00	\$65,000.00		6.00	\$30,000.00	0.00	\$0.00	6.00	\$30,000.00	46.15%
50357	RECONNECT - PRESSURE PIPE	16.00	EACH	\$5,000.00	\$80,000.00		15.00	\$75,000.00	0.00	\$0.00	15.00	\$75,000.00	93.75%
50359	COMPRESSION COUPLING	1.00	EACH	\$440.00	\$440.00		0.00	\$0.00	1.00	\$440.00	1.00	\$440.00	100.00%
50361	WASTEWATER CONTROL	1.00	LUMP SUM	\$10,080.00	\$10,080.00		0.50	\$5,040.00	0.25	\$2,520.00	0.75	\$7,560.00	75.00%

R. G. HUSTON CO., INC.
N. INGERSOLL STREET, ELIZABETH STREET, AND JEAN STREET ASSESSMENT DISTRICT - 2019
CONTRACT NO. 8295
PAYMENT NO. 2

FATIVIE	NT NO. 2	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50371	LATERAL BACKFLOW PREVENTOR	29.00	EACH	\$898.00	\$26,042.00		24.00	\$21,552.00	0.00	\$0.00	24.00	\$21,552.00	82.76%
50390	SEWER ELECTRONIC MARKERS	67.00	EACH	\$51.00	\$3,417.00		50.00	\$2,550.00	0.00	\$0.00	50.00	\$2,550.00	74.63%
50701	4' DIA SANITARY SAS	6.00	EACH	\$2,532.00	\$15,192.00		4.00	\$10,128.00	2.00	\$5,064.00	6.00	\$15,192.00	100.00%
50771	INTERNAL CHIMNEY SEAL	4.00	EACH	\$345.00	\$1,380.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50791	SANITARY SEWER TAP	2.00	EACH	\$934.00	\$1,868.00		1.00	\$934.00	1.00	\$934.00	2.00	\$1,868.00	100.00%
50797	EXTERNAL SEWER ACCESS STRUCTURE JOINT SEAL	6.00	EACH	\$242.00	\$1,452.00		4.00	\$968.00	2.00	\$484.00	6.00	\$1,452.00	100.00%
70101	FURNISH AND INSTALL STYROFOAM	1,920.00	L.F.	\$12.66	\$24,307.20		1,320.00	\$16,711.20	380.00	\$4,810.80	1,700.00	\$21,522.00	88.54%
	SUBTOTAL			•	\$448,914.90			\$284,716.70	•	\$98,086.80	•	\$382,803.50	85.27%
WATER	ACCOUNT NO. 11182-86-179												
10701	TRAFFIC CONTROL	0.20	LUMP SUM	\$3,850.00	\$770.00		0.00	\$0.00	0.10	\$385.00	0.10	\$385.00	50.00%
10911	MOBILIZATION	0.20	LUMP SUM	\$262,900.00	\$52,580.00		0.00	\$0.00	0.10	\$26,290.00	0.10	\$26,290.00	50.00%
70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	35.00	L.F.	\$146.00	\$5,110.00		11.00	\$1,606.00	10.00	\$1,460.00	21.00	\$3,066.00	60.00%
70003	FURNISH AND INSTALL 8 INCH PIPE & FITTINGS	1,140.00	L.F.	\$131.09	\$149,442.60		630.50	\$82,652.25	498.00	\$65,282.82	1,128.50	\$147,935.07	98.99%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	1.00	EACH	\$1,455.05	\$1,455.05		1.00	\$1,455.05	0.00	\$0.00	1.00	\$1,455.05	100.00%
70032	FURNISH AND INSTALL 8-INCH WATER VALVE	7.00	EACH	\$1,867.34	\$13,071.38		1.00	\$1,867.34	6.00	\$11,204.04	7.00	\$13,071.38	100.00%
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	2.00	EACH	\$1,395.29	\$2,790.58		1.00	\$1,395.29	1.00	\$1,395.29	2.00	\$2,790.58	100.00%
70053	REPLACE 1-INCH COPPER SERVICE LATERAL	5.00	EACH	\$3,669.38	\$18,346.90		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
70054	REPLACE 1 1/2 -INCH COPPER SERVICE LATERAL	1.00	EACH	\$4,385.99	\$4,385.99		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
70056	RECONNECT 1-INCH SERVICE LATERAL	26.00	EACH	\$1,952.06	\$50,753.56		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
70057	RECONNECT 1 1/2-INCH SERVICE LATERAL	1.00	EACH	\$3,827.13	\$3,827.13		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	5.00	EACH	\$1,367.21	\$6,836.05		1.00	\$1,367.21	3.00	\$4,101.63	4.00	\$5,468.84	80.00%
70082	CUT OFF EXISTING WATER MAIN	4.00	EACH	\$1,022.41	\$4,089.64		2.00	\$2,044.82	0.00	\$0.00	2.00	\$2,044.82	50.00%
								. ,				. ,	

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

R. G. HUSTON CO., INC.
N. INGERSOLL STREET, ELIZABETH STREET, AND JEAN STREET ASSESSMENT DISTRICT - 201!
CONTRACT NO. 8295
PAYMENT NO. 2

		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
70090	ABANDON WATER VALVE BOX	7.00	EACH	\$144.07	\$1,008.49		4.00	\$576.28	0.00	\$0.00	4.00	\$576.28	57.14%
70101	FURNISH AND INSTALL STYROFOAM	176.00	L.F.	\$12.66	\$2,228.16		48.00	\$607.68	0.00	\$0.00	48.00	\$607.68	27.27%
70105	PIPE PLUG FOR WATER MAIN INSTALLATION	2.00	EACH	\$1,010.56	\$2,021.12		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
70110	TEMPORARY WATER SUPPLY SYSTEM	1.00	LUMP SUM	\$33,321.26	\$33,321.26		0.50	\$16,660.63	0.50	\$16,660.63	1.00	\$33,321.26	100.00%
90002	REMOVE EXISTING WATER MAIN	620.00	L.F.	\$26.18	\$16,231.60		603.50	\$15,799.63	0.00	\$0.00	603.50	\$15,799.63	97.34%
	SUBTOTAL				\$368,269.51			\$126,032.18		\$126,779.41	=	\$252,811.59	68.65%
CONTRACT TOTALS				\$1,865,884.55		•	\$444,698.71		\$268,243.21	•	\$712,941.92	38.21%	